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1. The cable at B is pulled downwards at a velocity of 8 mm/s, and is slowing at 4 mm/s*. What is
the acceleration and its direction of block A at this instant? (10%) ({#130) B2

(A) 1 mm/s??  (B) 1 mm/s?]  (C) 2 mm/s’| (D) 2 mm/s*1

2. Consider three plates each has a mass of 20 kg. If the coefficients of the static and kinematic
friction at each surface of contact are 4,=0.15 and p4=0.1, respectively. What is the acceleration
of plate D when the three horizontal forces are applied? (15%) (BI30) EiE
(A)1.017m/s?  (B)1.069m/s® (C)0.8m/s* (D)0 m/s’

18N <+— D 20kg

B 20kg —>100N

14N <—— € 20kg

The cables supporting the pipe with a radius of 2 cm have the motion shown below at a given
instant. What is the acceleration at point A located on the pipe? (20%) (#130) B8
(A) 1.50 co/s?  (B) 0.875 cmvs”  (C) 5 cm/s® (D) 1.51 ecm/s?

V8]

V=50m/sl

a=15 crn/szl
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4. The particle A is originally at rest at s = 0. If its speed is increased by 0.05 m/s*, where / is in
seconds, what is the magnitudes of its acceleration when 1 = 18s? (20%) (#1#) #:%
(A)162m/s?  (B)97.2m/s>  (C)42.6 m/st (D)0 m/s?

300m

240m

5. The blocks A and B have a mass of 10 kg and 100 kg, respectively. What is the distance B
travels from the point where it is released from rest to the point where its speed becomes 2 m/s?
(20%) (BI30) B:E
(A) 0.883 m (B) 0.442 m (C) 1.766 m (D) 0.697 m

6. A ball has a mass of 30 kg and traveling at a speed of 4 m/s at its lowest point (6 = 0°). What 1s
the tension in the cord when =207 (c0s20°=0.9397) (15%) () #BF
(A)845N (B)361N (C)27TN (D) 113N

2]

4m

1C>—’ 4 m/s

30kg




